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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5§ are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question

shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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WIS A
SECTION A

Q1. Fr=fafw ¥ ) T w9 &1 IR FHT 150 et ® A .

Answer the following questions in about 150 words each :

(a)

(b)

(c)

(d)

(e)

Q2. (a)

(b)

(c)
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U F 3gm # Afge wiwdl 3 ey T AveE o 2 fadwm Hifvg

How did the intellectual forces lead to the emergence of sociology ?
Discuss.

FT TS U Jed-fie famm 2 2 R Al |

Is sociology a value-free science ? Discuss.

et famm femdl, frgr<l wa ufseanedi it ua Ut sgaeen &, &) wfe Ty
* 'Y 2t ® | oot Aifs |

Methodology is a system of rules, principles and procedures, which forms
scientific investigation. Comment.

B AW & ‘A TEY TS TEAN §, W drdafasal o SIIeY &
% 1 o9 e &f |

‘Ideal Types’ of Max Weber are mental constructs, they do not
correspond to the reality. Give your views.

aies ufEds & Aeras # yfomm qfafdal it aaficear = fossem
Hifsm |

Analyse the relevance of ‘Pattern variables’ in the study of social change.

IS AFEREEt & TREdR & 91§ ARF. 7o i Afafseand w=m § 2
fafea ymt Hi dimret & av 7 feugoft Hifdg

What are the reactions of R.K. Merton to the functionalism of social
anthropologists ? Bring out the limitations of latent functions.

T % FUIRRU (TEGHEIA) § YgEEE U afgshw R ) e aee
g ? fad=mn fif |

How are Hierarchy and Exclusion the major impediments in the
transformation of societies ? Discuss.

TSTd=3 &l S &6 T a0 & ®9 § ey ke | aorfifa # S
Hrfier® 1 Tk ATd HIGh T & 2

Explain democracy as an order of society. What are the factors
preventing people’s participation in politics ?
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10x5=50
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Q3. (a)
(b)
(c)
Q4. (a)
(b)

(c)
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seTforg Hifs |

Capitalism has brought increasing informalisation of work in society.
Substantiate your answer. 20

gﬁq%mmﬁmsﬁm%mﬁﬁmﬁﬁ(@ﬂaﬁﬁaﬁmﬁ%ﬁﬂw
m)eﬁruﬂaﬁttﬁaﬂwmﬁwmlmﬁqwﬁ
oo gatRorETg % qiem 6 ft ==t i )

Critically analyse Durkheim’s views on elementary forms of religious life
and role of religion. Also discuss the consequences of religious revivalism
in contemporary society. 20

wgmwﬂ?ﬂwmﬁﬂﬁmﬁmmésﬁaﬁm%qﬁwﬁﬁwaﬁﬁm

Discuss the consequences of Across Region marriage on kinship system
in modern Indian society. 10

T AT Fpid, fOH o e ) qargar w frk @ 2 gem $ vl
4 feooft Hifd |

Is humanity at the mercy of Nature, Science and Technology ? Comment
in the light of pandemic situation. 20

g@q%m‘ﬁmmm@w&m%mﬁqﬁqﬁﬁmmm

3 1”7 faRe AR |

According to Durkheim, “The major function of education is the
transmission of society’s norms and values.” Discuss. 20

mﬁmnﬁﬁmmw@q&ﬁmﬁ%mﬁa@aﬂmm
ST |

Critically assess social mobility in closed and open systems. 10




wve B
SECTION B

Q5. Fraferfm # & Tl Y9 H IW A 150 wraat § AR
Answer the following questions in about 150 words each : 10x5=50

(a) wwﬁw%wwﬁwﬁw%aﬂﬁwmw%?
feomoft HifSre |

In the context of globalisation, has the scope of sociology been changing
in India ? Comment. 10

(b) TR S § qReedT % e T ardl Y == HIT |

Discuss the importance and sources of hypothesis in social research. 10

(c) g@ﬁ%ﬁmﬁ%mwﬁﬁmﬁ%mﬁmwmw

What are the problems in observing social facts in Durkheim’s views ? 10
(d) ﬁ-m@mwﬁﬁﬁﬁamﬁmmaﬁ@mﬁ%wﬁwa@@
$if |

State the reasons for the various religious beliefs and practices in
pre-modern societies. 10

(e) 1 T T & fare Y geen onfl o oo wrh St @ 7 feogefi ifs |

Does the institution of marriage continue to be sacred in Indian society ?
Comment. 10

Q6. (a) #méﬁmﬁzﬁﬁmwaﬁﬁ%wﬁm@ﬁm

il 9 U= IS W 1 9uiF HIRT

Discuss the new labour codes and their impact on formal and informal

labour in India. 20
(b) foew =+ IER, “Cyferse ot G o & Te e & 7 fe wdniee g

¥ |7 feouft Hifsm |

According to Mills, “Elites rule in institutional terms rather than

psychological terms.” Comment. 20
(c) R o aheE adeu agh @ Al w FwsitEl e

HT |

Analyse the strengths and weaknesses of social survey method in social

research. 10
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Q7. (a)
(b)
(e)
Q8. (a)
(b)

(c)
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YRRt 3 wife wa P 6 aften = s fear & | Ras fifkm

Technology has accelerated the process of development and dependency.
Discuss.

HOSAITE H HeATcHs Gfeshiv, Seagrare ht 9gd @ qEunonsii i sdfien
Ha & | feoroft ffde |

Phenomenological perspectives in sociology reject many of the
assumptions of positivism. Comment.

ATTE % ‘STeTEaTe & g #1 AeiaTers gedich Hifrg |

Critically assess the Marxian theory of ‘Alienation’.

gETie IiEdT I uee i gud 9l FR U A a & §9 o g
22

How does Marx view social conflict as an essential element in social
change ?

quTS & o W om & fm-faed & 12 99 awe aaa § 2

What is the impact of gender division of labour on the development of
society ?

mﬁm%mmﬁmm%&@m% | 3STEWI Higd T
|

Examine how social movements come to an end. Illustrate with
examples.
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